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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Ans X1 4
X28
V310
X6

Ql afg + Frary «, - F AT - -F T x, x T AT + 8, F10+5=:7 - 4
x 30 & AT F4T gEI?

If + means +, =~ means —, — means *, x means +, then 10 +5 =7 -4 = 30="°

Ans  of 12017
< 2 2016
& 32018
< 42015

Q-2 et 3 37deT, 2005; 6 31915, 2010 T 5 TEHT, 2013 F AT TEeAiw-Ag-a8 96y &
Tor@r sar &, af 3= ve g ot fagvar &t o o §) Ba@aa e
el & AV o STHT TaciAc feaw # off agr faeivar g2

The dates 3* April, 2005; 6* August, 2010 and 5* December, 2013 when written in Date-
Month-Year Form have a unique mathematical property. The Indian Independence Day of
which year among the following has the same property?

Ans X1 241
< 2 261
< 3271
v 4 251

o & @ Fiad gE=w 9T 32
Which of the following numbers is composite?

Q.4




Ans

fgr v Fm #F wew AfAv, s & g7 Aa T2 ¥ B ada g 8 sk
g fifaw for Fa @1 ey afes w7 & F 70 w5y & sgaeer &= 82
He:
s e H g9 #
forsar

1. erll & TATET |9 ¢

2. 99 g T K

Consider the given statement to be true even if they seem to be at variance with the
commonly known facts and decide which of the given conclusions logically follows from
the given statement.

Statement:

This bowl has soup.

Conclusion

1. The bowl has tomato soup
2. The soup is too hot.

| &ae | |l g

.Olﬂyliscorrect

PR Lo
Both I and II are correct

o T AT E

Neither I nor II 1s correct

maa—cﬁruu'@rm

II only is correct

<

Q5

4, 2, 2, 6, 3 3T 8 FGEITHT F AT T 87
The median of the numbers 4, 2, 2, 6, 3 and 8 is:

Ans X145
v 235
<34
<43

Q6

AT # & Qw1 ggaeT H1:
Pick the odd one out from the following:

Ans  of 1. NaOH
#< 2. Cu(OH),
x 3. NH40H
/< 4. Zn(OH),
Q.7 “J= |3t H 9= gt 5 Fheand Ferw” - vh e

Ans

TGN 1: “afg AT 6 FA H 6T o § A A aote 10 AR 9% A
&l St
QEUROT 2: “FU= Iie delel ol HRFA Tl g1

“Gain your weight by 5 kgs in 3 sessions”- an advertisement
Assumptionl: “ if you join in 6 sessions your Weight will be lost by 10 kgs .
Assumption 2. “the company is dealing with weight gain programs”™

(I_Fra’rlamsrﬁrllsi?lﬁ%ﬂ‘:?l

Neither I nor IT 1s implicit




_%aa || safafea &

II only is 1mplicit
| hadl | Jidfafed &

I only is implicit
x4_2|T?-|‘r|=':|T|| Hafed gl

Either I or IT 1s implicit

x

~x

Q-8 wyal 2018 dF 390y FFN F HFAN ANMOT TF 30T AT F F4T
Who is the Union Minister of the Ministry of Commerce and Industry as of February
2018?

Ans
A JOr I

Suresh Prabhu
AT T
2.
Sushma Swaraj
X =g T
Anand Geete
IAT ARGr

Uma Bharti

X a4

Q9 FT T Fuw =T I3 T F 5oa¥ 2 F BT gy 2
AT T ¥ FE gwr gafag §7
FU:
l: aTra=T Y AT TIH
Il: T== FT T F/AT g

Which of the following statement is sufficient to answer the question?

How is Bhavana related to Sathish
Statements:

I: Bhavana’s mother is Rajyam

II: Rajyam’s son is Satish

Ans oo Farl 3t 7 & 1l T &
 Neither I nor II is sufficient
x| 3k 11 @t TaeT §

Both I and II are sufficient
X 3.
el | TaTeT & SAafe ke || 93T e 2

Only I is sufficient while II is not

F
aer || TI~g & Safe 3mher | 9ucg 78T &

Only II is sufficient while T is not




Q.10 = 7 3d ¥ e, “UTEr HoT 3T T T I F THAW A5 H GgrET|
= = FE gemEr o41?

Raman told Ananth “Day before yesterday I taught the only brother of the daughter of my
paternal grandmother”. Whom did Raman teach?

Ans
x. T

Brother

Father in law

fAar
Father

X a4

Q.11 wifger a1 20% & gifer 7 ferely % &1 T 280 3l a%q W FHF Hed AT AM?
Sahil sold an item for T 280 at a loss of 20%. The cost price of the item was:

Ans X 1. ¥ 336
723340
W2 T 350
4. T 1,400

L O F ¥ FiF T A 39T [P s Fepar 22
Which of the following animals can change its sex?

Ans x 1 ceAT{a= (Planarian)

Planarian
N el (Shail)
Snail
TEHRH
Ascaris
. o= (Nereis)

Nereis

v

X 3

x

O Trafaf@d # @ Fia @ FeAIdT R Whar 32
‘Which of the following can undergo sublimation?

Ans Xl_am’lﬁ:ma%ﬂit

Ammonium chlorate
X2 AT Tebhe

Ammonium sulphate

v HAIFTE FoREs

Ammonium chloride




IAIFTH GohEs
Ammonium sulphide

X a4

Q.14 g 1=y Rfeeit & Reg @S wifa & a5« e v e & 3 AET W
A AT, TR T W o T S 3 gy g e WY # o el of 5w
aR F e E

Paul Revere was a patriot in the American Revolution against the British. Name the city
where he lived and died. The Paul Revere House is still located in this city.

Ans ﬁ)ﬁ:ﬂﬁ
KoL
Chicago

Clp=ar

Boston

W2

X 4
Florida

Q.15 A 31N B U FTT FT FA: 10 ToIT 15 RT3 T Thd §1 B 1 IR FLT § 3RS
e g A ol ST A S omaT §1 AR AT 60 AT E, T IeTepT sAaoITe e o
)

A and B can complete a piece of work in 10 days and 15 days respectively. B starts the
work and is joined by A after Sdays. If they earn a total of T 60, what are their individual
shares?

Ans o 1.T24 T 36
< 2.330,730
X 3.320,3 40
X 4.T25 T35

& T @ & IS & UG FAT FEI?
J-11, L-13, N-15, P-17, ?, ?

Find the next two terms in the series
J-11,L-13, N-15, P-17,2,?
Ans X 1.C-3, H-8
< 2 R-18, V-22
#< 2 R-19, T-21
v 4+ 0-15,R-16

Q.17




T Ft @ 9 AR & T TR F R aifed T F@E Ay &
JgaT Sl
Y
IE Thol URee &l
oy
1. Thot ofrer & &1 &)
2. Thel ToliEeH HT &= §l

Read the statements and identify the logically correct conclusion from the given
information.
Statement:
This scale is transparent
Conclusion
1. The scale is made up of glass
2. The scale is made up of plastic

%A || JEROT T E

Only II follow
X 2
s (1) 31X (2) Q=T FFEROT XA 2
Both I and II follows
harel | 3JEIOT AT B

Only I follow
v
| 3R T &I FET FAT B
Neither I nor II follow

Ans

3

Q.18 F7 AIftww FoiNr=s & ST (AF=) o & & & el oia fr = &,
STl g il i B T o T il 1 i

When electricity is passed through an aqueous solution of Sodium Chloride (brine), it
decomposes to form:

Ans "1 NaOH + H, + CI,
# 2 NaOH + H, + 0,
# 3. NaOH + HCI + H,
# 4+ NaOH +H, + N,

Q.19 s Hw # g7 T afRf@e # ¥ w9 @ Fu & gEa s
s (@ &2

India-born Indira Nooyi is the Chief Executive Officer (CEO) of which of the following
companies?

KoL "

Coca Cola

| PepsiCo




% citeit 7 FEifE T T T
The universal natural auxin of plants is:
Ans IBA

Q21 2016 % Tt 3ERE & FF ¥ dRAT d=fies Bondr & = 5% Sar ar?
‘Which Indian badminton player won the silver medal in the 2016 Rio Olympics?

Ans x 1 arferar &=
Sania Mirza
i Ry
PV Sindhu
x 5, T Sgarer
Saina Nehwal

ﬁgrcrrrfrm
4.

Rituparna Das

v

~<

Q22 orelr 3T eRET & aF T T HAUT EH 9 A evEd & e Feen
4:1 3R 3:1 &, 3o 12 & e & AR G smar 31 sRw o &
9T 3 AT T W §?

Two water-squash mixtures, the first having a water-to-squash ratio of 4 : 1 and the other
having a ratio of 3 : 1, are blended in the ratio 1 : 2. What is the water : squash ratio in the

blend?

Ans X 1.19:11
W223:7
K317:13
X< a4:3

Q23 N1 Hag (shell) H FAATSIT BT ST Hebot aTel Solarcisl! thl HEAT R
The number of electrons that can be accommodated in the M shell is:

Ans «1_ 18
<28
<32
< 4 32

@2 Y SRR YO T HET B FAT 2T 82

What is the principal focus of a spherical mirror?
Ans x 1.




T vF v g ¥ eaw aUUT F W 3T WS e i ot am o
s 2 &

Tt is a point from which the rays of light appear to be coming from on the principal axis of
a convex mirror.

¥ &3

TZ THE T W UF g § S AOH ¥ IHE 37T F TA T
oot s @ & A aiE @ § a1 JE g W sw g @ sowew A
e 2 71

It is the point on the principal axis through which rays of light parallel to the principal axis
pass after reflection or appear to be arising from this point on the principal axis.

X 3
g T WG el I g g Tordal MR T Tk gEa ¢l
It is the centre of a hollow sphere of which the spherical mirror is a part.

Tg MR UUT &1 Feafag gl

It is the midpoint of a spherical mirror.

~ 4

Q.25 RJu 97 Fu FI g AT, &7 & a8 A a4 & & adia gar & i

Ans

a7 ST & Fia @1 Tt aifFe w1 & Y 70w @ segEor &= §?
hYUe:
Fo I Rt §1 Wi R 9 #
ey
1. w9 R §
2. 5o I I
Consider the given statement to be true even if they seem to be at variance with the
commonly known facts and decide which of the given conclusions logically follows

from the given statement.

Statement:

Some tigers are cats. All the cats are rats.

Conclusions:

1. All the rats are cats
2. Some of the tigers are rats

v L
fasae (1) 3R (2) = 3gEROT T E
Both (1) and (2) follow

leamrﬁﬁ;ér (1) 3TEROT T &

Only (1) conclusion follows
X 3
o aF s (1) 3R 7 & Ty (2) SgaEor & g
Neither (1) nor (2) follows

| A forsy (2) 37gEROT T B
Only (2) conclusion follows

x

Q.26

Ans

afy ver fig P & 0 Fx 71 foral 37 T PA AT PB Fel Y@ TRE 110° F FOTR
ST &1, T FI0T POA F7 ATT &7 87

If tangents PA and PB from a point P to a circle with centre O are inclined to each other
at an angle of 110° then the angle POA is:

< 1500
X 2. 70°
W 3 350




X 4 450

Q27 g Fr N T HEF HUR T ATEAIT AT 1 Toham 87

Definition of Force can be stated from:

xlm_ﬁﬂﬂﬁwa@vﬁaﬂ

Newton’s second law of motion

zmpa:rﬂ‘ﬁ-’ra?rqmﬁm

Ans

~<
Newton’s first law of motion

| e & A @ e s

Newton’s third law of motion

e H ocarshuor & FaA
4.

Newton’s law of gravitation

~x

v

Q-28 Froft q& R &7 31X He fvw g @ &1 a7 90° afdomad g € i 135°
arATEd R G 450 SfRTad gAd €1 e 3Ha He fnw fem #r aiw g2

Vani is facing East direction. She turns 90°clockwise then 135° Anticlockwise and
45°clockwise, then in which direction she is facing now?

Ans

x o ST

| South

Q29 sin @ cos(90° — A) + cos A sin(90° — §) =2
sin# cos(90° — ) + cos 8sin(90° — 8) = o

Ans \f'l-l
X 22
<3
<40

Q300,196 + 1.96 + 19.6 + 196 =?
0.196 + 1.96 + 19.6 + 196 =7
Ans  of 1.217.756
X 2.216.856
< 3216.756
X 4.217.676

Q.31




Ans

%Eﬂwm%‘—

182 - . :
T2 when written in the simplest form 1s:

xlzﬂ

20

xz 91

65

x3 14

10

7
14?

Q.32

Ans

oo & @ Fla & aigu 33 9= F @y ofvar & AR w5 22
Which of the following metals reacts vigorously with cold water?

v L e R
Potassium

X2 2

Aluminium
X 3

Zinc
X a4 e

Iron

Q.33

Ans

o 9o 1 3o & F v T ¥ Fuw qarea #2

T 71T et & uR W A f 3Y A Hfew?

e

I: AT #r 3 3T T B G F 10 T 3O 7

I: g &r 3g T & 24 T fOF g

Which of the following statement is sufficient to answer the question?

Find the age of the mother from the given statements.
Statements :

I: Mother’s age is 10 years more than her son

II: Sons age is 24 years more than daughter

L
Saer || TI~g & Safe | 3hem qucT 78T &

Only II is sufficient while I is not

KZ_E—I'Fﬂ' | 3 = & 1l 93T 7
Neither I nor II is sufficient
x| T 1l = 93T 2

Both I and II are sufficient
F
&heel | gOTeg & &t || 3her 9acg 787 2l

Only I is sufficient while IT is not

Q.34




AT FTAT TUTET & Fi A BEE, A F T T H AT 9 e A
HeE AT 87

Which part of the human reproductive system helps the embryo get its nutrition from the
mother’s blood?

Ans
" AT

Placenta
) Fel 9T g
| Fallopian tube
X 3 TR
Uterus
X 4 aTsirery 3fEr

Cervix

X

Q35 FHa & Fua T 93T F 3ca? & & fow garea &2
X T A AT HIAT?
He:
|: ATcHS FHATTT FH HEAHT & F97 1 AT 52 §
Il: & & R 2 ¢
Which of the following statement is sufficient to answer the question?
Find the value of x.
Statements:

I: Sum of squares of positive consecutive even numbers is 52
II: Difference of the number is 2

Ane o | 3R I 2 e #
Both I and IT are sufficient
X 2
Sheel || gacg § e 3hem | q2icT A8 g
Only II is sufficient while I is not
W 3
FaeT | qAT § Fafe sk || AT 74 3

Only I is sufficient while IT is not

x4_5rr—ffl3ﬂ¢a€rllt@¢r%|

Neither I nor IT is sufficient

Q36 37 a1 991 HIfAT A U 710 T F 359 &
Find the person who does not belongs to the group
Ane Ags Ag el
p 8
Mahendra singh Dhom

Jz_ma CIEEE=:]

Sunita williams




chelal didell
3.
Kalpana chawla

. PRI 2T
Rakesh Sharma

Q.37 5.0 foreltame $r T TEg F 2.0 AT F ML TF 30T A § | FH i

(AT o g=9.8 Herufy g dshs)
An object of 5.0 kg is raised through a height of 2.0 m. The work done in the process is:
(Take g=9.8m/s?)

Ans 49 T
K %

4917
10 el
o,

107
19.6

19.67
98 ST

087

X2

3

4

Q.38 7 & Reell I8 F 10% F FHAS F 341 AL 38 38 T 57 A7 H a=w
B & 3/ 20% FT WA gl 30% T ¥ Ww awg & By AT v e
fge?

Yaman sold an item at a loss of 10%. If he had sold it for ¥ 57 more, he would have made
a profit of 20%. What should be the selling price of the item to make a profit of 30%?

Ans  of 1T 247
< 23190
< 33228
< 4322230

Q.39 afg x =T 3T -, =« @ HY +, + ;Y + HT - w AT x @A
125 - 50 =10 + 20 x 4 @7 AL &5 F & F47 g9

If x means —, + stands for +, + stands for + and — stands for x, which of the following
gives 125-50+ 10+20 x4 ?

Ans - 1360
X 2315
< 3.6246.5
v 420

QA0 afz P, Q& T 7 &1 &1 &1, & P, Q ¥ & v W &2
If P is the brother of the son of Qs Son, how is P related to Q?

Xl.ﬂrg

Brother




X grar
Grand Son
v . T

Cousin

Q4 37 Sfda & 9T Hifaw o GU 70 FHF F IS B

Find the person who does not belongs to the group
Ans :
<1 UeTelr gRepsur

Pentala Harikrishna
 forgem= g

Vishwanadhan Anand
x , ST gl

Saina Nehwal
| IS g

Koneru Hampi

v

<

224 60 3T 90 Fr AH. fora=T &

The HCF of 24. 60 and 90 is:
Ans X1 3

v 26

<312

K44

Q.43 gelrer &t 37y e\ F & A e &, Trwhr sy w1 Fr g F & T F
afy wder, e it wE F g w1 g A 27 &, & Aaw F arg Rae
3

Satheesh is two years older than Goutham who is twice as old as Sai. If the total of the
ages of Satheesh, Goutham and Sai is 27, then how old is Goutham?

Ans Xl- 12
v'210
X311
<413

QU4 ey & SR & oI 35 FTE, ST #F bt e wihog ¥ 2
According to Newlands® Law of Octaves, how many elements exist in nature?
Ans «' 1. 56
< 2 66
< 355
< 4 65

Q.45




TR § ¥ 7 &1 909 A smiEe, g R st = o
AN e # G w82

‘Which of the following is used in the preparation of tincture iodine, cough syrup and
many tonics?

Ans mmu
KoL
Methanol

X2 sdIss Tfas
Ethanoic acid

o tfafes ofes
Acetic acid

v @ﬁﬂ

FEthanol

Q.46 foraft fafve st #, TREE &1 %< USFF &1 39 s19T # MANGO &1 & &
gam?

If in a certain language. TREE is coded as USFF, how is MANGO coded in that language?

Ans - 1. BHONC
< 2 NOPHB
# 3 NBOHP
v+ OPHNB

Q.47 fow e & 3=l Fforar Toeas o 3 % fawg & w9 # awa # e
a:i%ms_ﬁ\?ra;raﬁ?rﬁ;m%?

Which author emploved India’s obsession for cricket as the theme for his recent book
‘Selection Day’?

Ans X1 form O

Vikram Seth

X2 e AT
Anil Menon
e B

X 3

Amish Tripathi
) afae wfEew

o oo
Aravind Adiga

% JierdIstT & UF U] H geIAA gl
The mass of one molecule of oxygen is
Ans 23
X1 2.3 x 10 ImA
23x10 %3¢
-23
?(2-3'3 x 10 ATH
3.3x107%3g




4.3 x 10% IR
< 3.
43x10 %3¢
-23
«4_5.3 x 10 IATH
53x10%% ¢

VA TE S F I & U AT HfIT-

J, L O, S 7 7
Find the next two terms in the series
JLL,O.,S.?2.?

Ans X 1. Y:
X2 X
<3 X
v A,

mOND

O GrafafEa & ¢ Fi @ ' 12 ¥ ferew 2
Which of the following numbers is divisible by 12?
Ans  of 153412
< 243412
#< 333412
< 463412

Q.51 gemame ‘m ATl vs g Al v H W TR @ § Ak sud e
ot KR | I SHH I GIAT T G A, A g AT FAT bt &
ST

An object having a mass ‘m’ moving with a velocity ‘v’ possesses a kinetic energy ‘K’. If
its velocity is doubled, its kinetic energy will become:

Ans X 1 K/2
X 22K
Vs 4K
< 4 K/

Q.52 =fy v A a,ax,ax?, ax™ | F 93t #r & Rws §, 3 swehr aiemer |
EqiE|

A sequence a,ax,ax?, ax", has odd number of terms. Then the median is

Ans i
?( 1. —+1
axz

n
X2 axa~t
K 3 gxn—1

i
v axz

Q.53 T, Ierar 3t gltar #r TR 3 F oI 4: 7 ¢ 9 ¥ IS I TGS,
IRt 3T F AT 56 oT| 3 TOA Y (T H) I AT

The present ages of Kavitha, Rajitha and Haritha are in the ratio of
4: 7 : 9. Eight years ago, the sum of their ages was 56. Find their present ages (in years).




Ans

/< 116, 36, 28
v 2186, 28, 36
# 320, 35, 45
<412, 21, 27

Q.54 R T FUT T T AT, I & a8 7 g2 ¥ e v gar & 3R

Ans

To Ao fF H a1 sy aifes v7 & Y 70 Fua &1 3eEor & ar 82
he:
Fo TrAg Few §| vl o e g
Cica)
1. F© P e §
2. 5o faw a7 §)
Consider the given statement to be true even if they seem to be at variance with the
commonly known facts and decide which of the given conclusions logically follows from
the given statement.
Statement:
Some spoons are glasses. All the plates are glasses
Conclusions

1. Some glasses are plates
2. Some glasses are spoons

Faer sy (1) 3gERor Far g
Only (1) conclusion follows
Fael sy (2) 3FEOT HT B
Only (2) conclusion follows

v
faswy (1) 3R (2) @ IgERoT X g
Both(1) and (2) follows

r 8
o ey (1) 3R F & sy (2) 3gEsor R £

Neither (1) nor (2) follows

p 8

<2

Q.55

10 e Gl & 8 R & o W wwa #1 4 RE § a, & s wa
IF &3 ¥1 30% 91C HF & W B § el el oRE?

10 people could complete a task in 8 days. After 4 days, 2 of the workers left. How many
days from then did it take to complete the task?

Ans X 17
X28
V6
X5

Q.56

Ans

o & g &
23 — [23 — {23 — (23 - 23+ 23)}]

Solve the following:

23 — [23 — {23 — (23- 23+ 23)]]
<1




< 2 23
<31
v a0

Q.57 werey w1 iy ALY Flawe # =fofee &7 #f g § @ i A= aer ot
T TETT &7

‘Who among these union ministers in the PM Narendra Modi cabinet belongs to the Shiv

Sena party?
x , TeTAe FsT
Sadanand Gowda

Ans

Q.58 f23r 71 g3 #T 3 o F fovw o & ¥ FiF T T waT ghre
BT 71T Fuat @ x, y, z F A AT Fi=w?
EXIEN
Lx+y=12; x+z=4
I: x-y=6

‘Which of the following statement is sufficient to answer the question?

Find the values of x, y, z from the given statements.

Statements:
Ix+ty=12;x+z=4
I x—y =6

Ans ?(l-
erer || gOTcT § Fafes | 306eT TarcT 78T £

Only 1T is sufficient while I is not

xz_;r?frlaﬁ'\rsr#rlltnﬁqﬁl
Neither I nor II is sufficient
x| 3R 1l &t wdeT 2
Both I and II are sufficient
v
el | gITT ¥ Safes 1l 3reT TaeT 78T g

Only 1 is sufficient while IT is not

Q.59 e cufeT (9ffr & 25 Rrions w1 AW Forar & 3 5 6fE § 2.5 A FR TR
TW AT 8| T g = 10 ms~2 &Y, O WA U7 30 ZaRT 3 13 F 1 71 3247 e

A man lifts a luggage of 25 kg from the ground and puts it on the head, 2.5 m above the
ground. If the value of g = 10 ms™2, then the value of work done by him on the luggage
is:

Ans  X'1.2257
K 22257

V36257




K 42207

Q60 Fegait &7 it W1 Hgg Fordlw T F AT W9 F @A ATel B S 82
Which group of animals are exclusively free living marine animals?

Ans TifarET

X a4
Nematoda

Q.61

& TS HW@T H A UG AT HifAv-
X V,T, R P, ?

Find the next term in the series

X V.T.R.P,?
Ans «lH

XL

X:0

XN

Q.62 1g ws TRl &1 s & WG #T 3W 15% & a1 W a9 & ¢l ety o
IEET R iy

After buying a toy for 45, Raghu managed to sell it at a profit of 15%. The selling price
of the toy was:

Ans X 1. 350.75
< 2. Z60
3. 351.25
W 4 F51.75

Q.63 213 pm W e 1 g X w¢ &1 gF ¥ dfaffa == For 71 A Fraer
gam?

‘What will be the acute angle between the hour-hand and the minute-hand at 2:13 p.m?

Ans Xl- 16.59
< 218°
K 31350
21150

Q.64 frg Ararse WHATAr Fae 7 2017 7 AN TF9 e &9 F1 UHEE g9
& ferw g avt &1 sfeqaer frar g2

‘Which mobile manufacturing company won the rights in 2017 to be the sponsor of the
Indian male Cricket Team for five years?




ns xlﬂsﬂﬂw

X 3
BlackBerry

2(4.E"ﬁa

Karbonn

Q.65

&r 315 AToll H1 3Tl 9 4T gHEM?
3G, 6H, 11J, 18M, ?

Find the next terms in the series

3G, 6H, 11J, 18M, ?

Ans X1 20U

~<227Q

X5 27V
v 18P

Q66 e F Faer RR FEd FeT 37
The Kambala festival of Karnataka is essentially associated with what?

Ans x ﬂ?ﬁ ﬁ aglé.
Cock fighting

Buffalo race
| Ffearer e
Tribal dance
¥ A
Bull fighting

v

x

Q.67 3y smeafore 7% & AW AT v wEE Igd AAdE HfUER HEr gan
A AT, HTTHF T TF A 6 T WU F @A 3g WA
B T

Name the spiritual leader who was honoured with a humanitarian award by a prominent
Jewish human rights organisation for promoting human dignity, interfaith relations and
tolerance among people.

Ans HTARTH &1

KL
Asharam Bapu

e THST

Baba Ramdev

X2




o AT SETy
Sri Sri Ravi Shankar
ARNT &1

4.

Morari Bapu

~x

0% Cafaf@a & & i o1 yT T 7 &7

eafer 1 397 g &
Which of the following statements is true?

The velocity of sound is:

Ans xlﬂﬁm’fﬁgamﬁﬂﬁﬁﬁﬁm

less in summer than in winter
X 2 et it offat & v gEe
same in winter and summer

3.#@1%%3@?%

independent of seasons
"y wieat $r gerar A 1AAT 7 # o=

more in summer than in winter

<

0 G A g & e wfaQusar aidr 22
Which of the following has low resistivity?
Ans ARIIA

Q.70 woeT T Ug N & M FHENT F HUN W 3ol &
T WER &I AT AN F HFATT &1 96 L &l AeT?
T 1: &, AT 3EART qAETT YguoT YeT HeT E
T 2: A, AT IEIT IR & FUR a0 § HR7 g F e e # #
HETTh BT
Read the question and answer from the given information:
Should the govt stop giving permission to new industries

Argument 1: Yes, new industries create environmental pollution
Argument 2: No, New industries improves employment and takes part in economic growth
of country

Ans




l_amr||u-g?r%|

II only is correct

m:ra’rlamsrﬁruwgrm

Neither I nor 1T is correct
xglma‘rlaﬂTmll el gl
Either I or IT is correct

4.a1—c|3r|ﬂ'€r%|

I only is correct

v

~x

ST & TS @ H TSN TEAT T g?
0, 1, 4, 27, 16, 125, 36,?
What will be next number 1in the series?
0,1,4,27,16, 125, 36.2

Ans X 1.343
< 2144

X372
v 25

Q.72 yeo Y ufew 317 & T FFHAT F IUT W 3T &IfaI0-

vafere ZadT F8T & el &1 FAT uaiole 39-T Agurér wivtar & a2 &7
% 1: &, df& T8 3 wewdr ¢, qfttar 35y B
T 2: &, 9fF 98 3WH WEUST §, 9o 3wy 99 ¥

Read the question and answer from the given information:
Pravalika is studying 10% class, is Pravalika elder than Pranitha who is her classmate?

Argument 1: Yes, as she is her classmate Pranitha is younger to her
Argument 2: No, as she is classmate Pranitha is elder to her.

Ans ?(l-
3| 3R T A1l T AT B

Neither I nor II follow
0 ar | 2T |l 3JEOT LT B

Either I or II follow
A || ST FAT E

| Only II follow
» I | JEIOT FT B
_ Only I follow

X 2

Q.73 Trafaf@a # & Toa T=7 & g #ia &1 T 3 &R 33T ¥ e
gfte &7

Which of these cities located in the state of Gujarat is famous for its diamond industry?




Ans IR

HId
v S
Surat

Q.74 zmar 3ear fam F AR T W #1 4 kms TR F 9E T &¢ 5L 3 kms
TEdT #| ¥E 9 IO Wi R & Bt gy Mt frw Rar # B2

Mamatha is walking towards North. After walking 4 ks, she turns right and then walks
for 3 kms. Now how far and in which direction is she from the starting point.

Ans Fca 9TEH - 6 kms
p 8
6 kms - N-W
gf¥gH® - 7 kms
2.
7 kms - West
gf&ur 99 - 5 kms
X 3
5 kms - S-E
3cR 99 - 5 kms
4,
5 kms - NE

Q.75 ufy us g & uo HieT 9y HFs F FT F Gy FUX A T $FHr F1aT Far
6 BT & 1 35 e & 9ftAor Ghaer g 2

(@ o g = 10 e iy = T
If a ball is thrown vertically upwards with a velocity of 40 m/s, then what will be the

magnitude of its displacement after 6 57
(Take g = 10 m/s?)
Ans 20 T‘ﬁH
80m
LO HeX
LOom
60 HIeX
60m
20 HIEX
20m




